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:f` ,`eliq-p g"z 'qn rp idi :III

rp| |G| (i)

rp ≡ 1mod p (ii)

miyeniye zepwqn
dprh

.dheyt dpi` (2 6=ipey`x p xy`k) 2pk xcqn dxeag lk

dgked
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.p"gz `id 2 qwcpi`n g"z libxz

�
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50 xcqn dheyt dxeag oi`
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dcaer

100 xcqn dheyt dxeag oi`

dgked

.100 = 22 · 52 xcqn dxeag G `dz
.H5 ,25 xcqn `eliq-5 g"z Ga yi I `eliq itl

r5 ≡ 1mod5 mbe r5|100 miiwn r5 `eliq-5 g"z 'qn III `eliq itl
5 - r5 ,r5 ≡ 1mod5y oeeikn

(∗) r5 ∈ {1, 2, 4} ⇐ r5 - 100 mbe 5 - r5
r5 = 1 ⇐ (∗) mr cgi r5 ≡ 1mod5

xH5x
−1 = H5 x ∈ G lkl lawp ,25 xcqn g"z wx yiy oeeikn ,okl

� dheyt dpi` G dpwqn
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zeilxcdic zexeag
.(1, 0)a eicwcwn cg`e ziy`xa efkxny n xcqn llkeyn rlevn Xn `di

.envrl Xn rlevnd z` zexiany zeix`pild zewzrdd zveaw `id I2 (n)

okl .iktde ltk zgz dxebq ,

(
1 0
0 1

)
∈ I2 (n) ik ∅ 6= I2 (n) ⊆ GL2 (R)y xexa

.zilxcdicd dxeagd z`xwpy dxeag `id I2 (n) ,hxta .I2 (n) ⊆ GL2 (R)

2π

n
a aeaiq s :onqp

.sn = e oke I2 (n) ⊇
{
si 0 ≤ i ≤ n

}
xexa

.envrl Xn xiarn - x xivl qgia sewiy t =

(
1 0
0 −1

)
ok enk

:miiwzn

t2 = e

tst = s−1

:sts z` aygp

tst = s−1 ⇒ st = ts−1

okl

sts = ts−1s = t

.(xg` xivl qgia)sewiy mb ts ?ts edn

.rlevnd lr mixneyy mitewiyd lk el`e ,sewiy tsi ,0 ≤ i ≤ n lkl libxz

I2 (n) =
{
si :≤ i < n

}
∪
{
tsi : 0 ≤ i < n

}
:zix`pil dxabl`a libxz

miaeaiq n− 1e mitewiy n ly xf cegi` `id zilxcdicd dxeagd ,xnelk

htyn

I2 (n) =
〈
s, t : t2 = e, sn = e, tst = s−1

〉
,irah 3 ≤ n lkl

iqgi mr (s, t, s−1, t−1 odizeize`y zexcqd lk)te s i"r zxvepd dxeagd ,ixw
(st = ts−1⇐)tst = s−1 ,sn = e ,t2 = e mevnv

(`ad xeriya jynd)...
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